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Which number will replace the question
mark(?) in the following?

निम्ननिखित में प्रश्न निह्न (?) के स्थाि पर कौि-सी संख्या
आएगी?

75, 76, 72, 81, 65, ?

a) 90

b) 95

c) 85

d) 80

.



Which number will replace the question
mark(?) in the following?

निम्ननिखित में प्रश्न निह्न (?) के स्थाि पर कौि-सी संख्या
आएगी?

8, 40, 160, 480, 960, ?

a) 960

b) 1920

c) 2880

d) 3840

.



A + B means ‘A is husband of B’

A – B means ‘A is son of B’

A× B means ‘A is mother of B’

A÷ B means ‘A is sister of B’

If P – K + D × S ÷ T, then how is P related to T?

A + B का अथथ है 'A, B का पनत है'

A - B का अथथ है 'A, B का पुत्र है'

A× B का अथथ है 'A, B की मां है'

A÷ B का अथथ है 'A, B की बहि है'

यनि P - K + D × S ÷ T है, तो P, T से नकस प्रकार संबंनित है?

a) Sister

b) Son

c) Brother

d) Mother

...



Statements:

Some phones are keyboards/कुछ फोि कीबोर्थ हैं।

All phones are computers./सभी फोि कंपू्यटर हैं।

Conclusions:

I. Some keyboards are computers./कुछ कीबोर्थ कंपू्यटर हैं।

II. Some computers are phones./कुछ कंपू्यटर फोि हैं।

III. No keyboard is computer/कोई भी कीबोर्थ कंपू्यटर िही ं है।

a) Only conclusion II follows

b) Only Conclusion I and II follows

c) Only conclusion I follows

d) Either Conclusion I or III follows

..



In a code language, if ‘MEAGRE’ is coded as
‘98’, then how will ‘REMOTE’ be coded in the
same language?

एक कूट भाषा में, यनि 'MEAGRE' का कूट, '98' नकया
जाता है, तो उस भाषा में 'REMOTE' का कूट नकस
प्रकार नकया जाएगा?

a) 145

b) 150

c) 152

d) 154

...



In a code language, ‘VICIOUS’ is written as
‘ERXRLFH’. How will ‘RADIUM’ be written as
in that language?

एक कूट भाषा में, 'VICIOUS' का कूट 'ERXRLFH'
नििा जाता है, तो उस भाषा में 'RADIUM' का कूि
नकस प्रकार नििा जाएगा?

a) IZWRFN

b) HZWRGM

c) IZCQFN

d) IZVQFN
.



Select the option that is related to the third
word in the same way as the second word is
related to the first word.

उस निकल्प का ियि कीनजये जो तीसरे शब्द से उसी
प्रकार संबंनित है नजस प्रकार िूसरा शब्द पहिे शब्द से
संबंनित है।
Ampere: Electric current ∷ Kelvin : ?

एखियर : निि्युत प्रिाह ∷ केखिि : ?

a) Luminosity

b) Ammeter

c) Pressure

d) Temperature

...



Which option represents the correct order of
the given words as they would appear in
English dictionary?

उस निकल्प का ियि कीनजये जो अंगे्रजी शब्दकोश के
क्रमािुसार निए गए शब्दों के सही क्रम को िशाथता है?

1. Tentative 2. Tenderer

3. Tenant 4. Tendency

5. Tentacle

a) 3, 4, 2, 1, 5

b) 3, 2, 4, 5, 1

c) 3, 4, 2, 5, 1

d) 4, 3, 2, 5, 1
...



Which two signs and two numbers should be
interchanged to make the given equation
correct?

निए गए समीकरण को सही बिािे के निए कौि से िो
निन्हो और िो संख्याओं को परस्पर बििा जािा िानहए?

81 + 15 ÷ 5 – 23 × 27 = 95

a) 27 and 81, + and ×

b) 81 and 23, ÷ and ×

c) 81 and 27, ÷ and -

d) 5 and 23, + and ÷

..



Which letter cluster will replace the question
mark (?) to complete the given series?

िी गई श्रंििा को पूरा करिे के निए कौि-सा अक्षर
समूह प्रश्न निह्न (?) के स्थाि पर रिा जा सकता है?

EFFECT, GHFECT, GHHGCT, ?

a) GHHGEV

b) GHHGFU

c) GHJIFU

d) GHJIEU

.



Select the option that is related to the third
number in the same way as the second
number is related to the first number.

उस निकल्प का ियि कीनजये जो तीसरी संख्या से उसी
प्रकार संबंनित है नजस प्रकार िूसरी संख्या पहिी संख्या
से संबंनित है।

17 : 204 ∷ 21 : ?

a) 251

b) 250

c) 252

d) 253
...



‘Starvation’ is related to ‘FOOD’ in the same
way as ‘Injustice’ is related to ‘________’.

‘भुिमरी’ उसी प्रकार ‘भोजि’ से संबंनित है नजस प्रकार
‘अन्याय’ ‘________ ’ से संबंनित है।

1) Fairness / निष्पक्षता

2) Court / न्यायािय

3) Resources / सािि

4) Judge / न्यायािीश

.



In a certain Code language STATES is coded
as CSTPHR then what will be code for
UNITED?

एक निनित कोर् भाषा में STATES को CSTPHR के
रूप में कोर् नकया जाता है तो UNITED को क्या कोर्
नकया जाएगा?

a) VMKRHA

b) KMAVHR

c) RHAVMK

d) KMVAHR

….



Which letter cluster will replace the question
mark (?) to complete the given series?

िी गई श्रंििा को पूरा करिे के निए कौि-सा अक्षर
समूह प्रश्न निह्न (?) का स्थाि िेगा?

PZQC, TDMY, XHIU, ?

a) BLEQ

b) BKEP

c) CLDQ

d) CKDP.



Choose the alternative which is closely resembles the 
mirror image of the given combination ?

िह निकल्प िुिें जो निए गए संयोजि की िपथण छनि से काफी
नमिता-जुिता हो?

a) 1

b) 2

c) 3

d) 4

..



Find the missing number 

a) 55

b) 53

c) 56

d) 51

…

7 8 9

3 6 7

80 ? 64



Find the missing number 

a) 01

b) -2

c) -1

d) 00

….

0 -1 -2

2 1 0

1 ? -1



Choose the odd one out.

निषम िुिें।

a) 16 - 56

b) 32 - 30

c) 12 - 12

d) 41 - 25

….



..

Which symbol will be on the face opposite 

to the face with symbol 5 ?

+ चिह्न वाले िेहरे के चवपरीत फलक पर कौन सा 

चिह्न होगा?

a) 1

b) 5

c) 4

d) 6



..

Which of the following represents best 

relation between Teacher, Parent, 

Guardian

चनम्नचलचित में से कौन चिक्षक, माता-चपता, 

अचििावक के बीि सबसे अच्छे संबंध को दिााता है
a) b)

c) d)



….

Find out the alternative figure which 

contains figure (X) as its part

उस वैकचपपक आकृचत को ज्ञात कीचिए चिसमें 

आकृचत (X) िाग के रूप में िाचमल है

a b c dx



….

Find out the alternative figure which 

contains figure (X) as its part

उस वैकचपपक आकृचत को ज्ञात कीचिए चिसमें 

आकृचत (X) िाग के रूप में िाचमल है

a b c dx




